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General Instructions :
Read the following instructions very carefully and strictly follow them :

Q)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice questions.
Choose the correct option.

1.

The number of zeroes for a polynomial p(x) where graph of y = p(x) is
given in Figure-1, is

A 3
B 4
(O
(D) 5
y
Ve s
/o \ °
Figure-1

.30/4/1 | 3 P.T.O.



Teh HATAL IS T Y9H U2 5 & d1 3ifdH ue 45 8 | Ife aeft 9ei &1 I
400 g1, df 9ei <t TE B

(A 20

(B) 8

(C) 10

(D) 16

JYUST

Th THTR A&t — 15, — 11, — 7, ..., 49 T 94T US B
(A 32

B 0

) 17

(D) 13

feom mn % 6 foig A1, 2), B(0, 0) @ Cla, b) TE £ | Frfefad deei §
a AT b o S T HIF-G1 T99 TqEl B ?

(A) a=2b
B) 2a=b
(C) a+b=0
(D) a-b=0

(-2 H, A TP, TQ 5 O I fohell g0 W i T8 QI TRI@IT 36 TR
2fF £ POQ=115°%, @ £ PTQ ST B

(A) 115°
(B) 575°
(C) 55°
(D) 65°

1.30/4/1 | 4
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2. The first term of an A.P. is 5 and the last term is 45. If the sum of all the
terms is 400, the number of terms is

(A) 20

B 8

(C) 10

(D) 16

OR

The 9t term of the A.P. — 15, — 11, -7, ...., 49 is
(A) 32

B 0

©) 17

(D) 13

3. It is being given that the points A(1, 2), B(0, 0) and C(a, b) are collinear.
Which of the following relations between a and b is true ?

(A) a=2b
(B) 2a=b
(C) a+b=0
(D) a-b=0

4. In Figure-2, TP and TQ are tangents drawn to the circle with centre at O.
If # POQ = 115° then £ PTQ is

(A) 115°
(B) 575°
(C) 55°
(D)  65°
P T
N\
Q
Figure-2
OR

.30/4/1 | 5 P.T.O.



% ga W fRe s fog Q @ @i w8 wiwn i e 5 3 R qen fag Q
&1 99 & b3 9 gl 8T B | g9 A Frew B

(A) 39T

(B) 39

(C) 39 @

(D) 79

Ife cos (10° + 0) = sin 30° &, df 0 1 A &
(A 50°

(B) 40°

(C) 80°

(D)  20°

T A H 3 A, 5 Hiell a1 7 T%E 76 & | 39 I § ¥ T Tig I AgeSAl
frenTer STTaT 2 | FenTedl T8 Tie et T ], SHeh! ITTiehdT B

(A) é
®
(©) %
(D) g

gsh TR y = 0 AT y = — 6 % I & T

(A)  AfgdT & 7
(B) I3 & T8I @
(C) 3% 8A &

(D) &% w74 (0,0) 3

1.30/4/1 | 6
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From an external point Q, the length of the tangent to a circle is 5 cm and

the distance of Q from the centre is 8 cm. The radius of the circle is

(A)  39cm
(B) 3ecm
(C) 39 cm
(D) 7em

5. The value of 6 for which cos (10° + 0) = sin 30°, is

(A)  50°
(B) 40°
(C) 80°
(D) 20°

6. A bag contains 3 red, 5 black and 7 white balls. A ball is drawn from the
bag at random. The probability that the ball drawn is not black, is

IS
®
(©) %
o 2

7. The pair of linear equations y = 0 and y = — 6 has
(A) aunique solution
(B)  no solution
(C)  infinitely many solutions
(D)  only solution (0, 0)
.30/4/1 | 7 P.T.O.



10.

T S I WL qAT HIEAH HHR: 14 TA1 158 | 37d: 98I hl A BT
(A) 16

B) 17
(C) 18
(D) 13

feama aefientor x2 — 4x + k = 0 % o T arEdfees gt 2 afe
A k=4

B k>4
(C) k=16
D) k<4

f9g A(- 5, 2) @1 g B(4, 6) &l SieA a0l @@S H1 AeA-fog P(%AJ 2

‘@’ T T 8
A -4
B 4
C) -8
D -2

J97 &IT 11 @ 15 7 R €917 9RT |

11.

12.

13.

14.

15.

(2+3\/5J@ F@T%l

e it 16 A ABC ~ A DEF @1 39 BIysli & &%l shAsr: 81 afi2 qen
144 o2 § | Ifc EF = 24 9t 3, a1 Yo BC & owag et gnft |
fagati (a, b) AAT (- a, — b) & o= HT g 2 |

qﬁ;’tanA:l%,?ﬁ2sinAcosA=

forsen 8 Tft aTett oTg W1 T TMATRR 7ig i TUEATeRt 8 FHM TR 6l DI TG
ST E | FAR A H e adiR

1.30/4/1 | 8
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8. The mean and median of a distribution are 14 and 15 respectively. The
value of mode is
(A) 16
B) 17
(C) 18
(D) 13
9. The quadratic equation x2 — 4x + k = 0 has distinct real roots if
A k=4
B k>4
(C) k=16
D) k<4

10. Point P(%, 4j is the mid-point of the line segment joining the points
A(- 5, 2) and B(4, 6). The value of ‘a’is

A -4
B 4

c -8
D) -2

Fill in the blanks in question numbers 11 to 15.

11. [2 +3\/§j s number.

12. Let A ABC ~ A DEF and their areas be respectively 81 cm? and 144 cm?.
If EF = 24 c¢m, then length of side BC is cm.

13. The distance between the points (a, b) and (— a, — b) is
14. Iftan A =1,then2sin Acos A=

15. A spherical metal ball of radius 8 cm is melted to make 8 smaller
identical balls. The radius of each new ball is cm.

9 P.T.O.



J97 &7 16 & 20 7 [A=fcilgad & o7 dfaw |

16.

17.

18.

19.

20.

femr mn 8 f6 9.9, (HCF) (135, 225) = 45, @1 @.9. (LCM) (135, 225) J1d

HIfT |

(-3 H, =B 0@ § o1 g8 Th 20 Hl. ovell WHll, U T €Y o @Y %
forer @ sl B | 9fe fi wax < a1 Wt g SR T S0 30° 1 &, 9 @Y
1 SIS 1A HINT |

B

20 HI.

30°

STTPIA-3
T 9T ! Teh T el JTAT & | SHehl 1 WRehdT & foh @1 9/ W 3T
Al T3 1 AHA 13 7 ?

foraa comera T % o1 Y g % 1 TIMAS =90 Hid B 2
HTHid-4 H, AB T& CD 3H 31 Jal i IS TR-@MN & I ThH-GH il g
D W T3 Hd 8 | Il AB = 8 B &1, A1 CD hl &g JTd <hIfST |

1.30/4/1 | 10
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Answer the following question numbers 16 to 20.
16. Given that HCF (135, 225) = 45, find the LCM (135, 225).

17. In Figure-3, a tightly stretched rope of length 20 m is tied from the top of
a vertical pole to the ground. Find the height of the pole if the angle made
by the rope with the ground is 30°.

B

20 m

30°

Figure-3

18. Two dice are thrown simultaneously. What is the probability that the

sum of the two numbers appearing on the top is 13 ?

19. After how many decimal places will the decimal representation of the
rational number %97 terminate ?
2 x5

20. In Figure-4, AB and CD are common tangents to circles which touch each
other at D. If AB = 8 cm, then find the length of CD.

Figure-4

11 P.T.O.



Qs g

J97 G&IT 21 G 26 TF Jodb J97 2 3hl HT & |

21.

22,

23.

24.

6x2+11x+3=0

21 wuEy Brgsit o 9iE e 30 4t dur 20 St ¥ | A ww By <l
o 9 &t @t B, o gER P it wrd e i e 7 Hifw |
AT
3FIA-5 H, PQR Teh GHHIU FHYS 2 & il P g9 38 | QR W fog M
39 TR o 2 f6 PM L QR 2 | @is¢ f6 PQ2 = QM x QR.
R

STTHIT-5
UH A1d hIT

N2 N2
sin 47 L [ cos 30°) (sin 60°)2
cos 43° cot 30°

o [N e

EESINIECH

d e 1 FgTh AT T :

%

0-20 | 20-40 | 40-60 | 60-80 | 80-100

ISR : 10 8 12 16 4

HYAT
fafeafigd sed 9 H1eeh [1d hIfT

500 - 600

600 — 700

700 — 800

800 - 900

900 - 1000

36

32

32

20

30

12

gﬁ



Question numbers 21 to 26 carry 2 marks each.

21.

22.

23.

24.

Solve for x :

6x2+11x+3=0

SECTION B

gﬁ

The perimeters of two similar triangles are 30 cm and 20 cm respectively.
If one side of the first triangle is 9 cm long, find the length of the
corresponding side of the second triangle.

OR

In Figure-5, A PQR is right-angled at P. M is a point on QR such that PM
is perpendicular to QR. Show that PQ? = QM x QR.

Evaluate :

sin 47°
cos 43°

J

R

Figure-5

cos 30°
cot 30°

2
j — (sin 60°)?

Find the mode of the following distribution :

Classes : 0-20 | 20—-40 | 40-60 | 60—-80 | 80 —-100
Frequency : 10 8 12 16 4
OR
From the following distribution, find the median :
Classes : 500 — 600 | 600 — 700 | 700 — 800 | 800 — 900 | 900 — 1000
Frequency : 36 32 32 20 30
13 P.T.O.
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25. 3TTPId-6 H, HIs TY Th o o R H & NE T Th WP AR 2 |
STHTRR 9T hl Harg 2-1 Wi, T YaamhR 9 i s =g 2:8 W 7 | g
Tl 1 ThauH B 2 WL 2 | 39 99 B 9H § WYEd had (canvas) I
?HWW@'%IT{ | (TE= ?WW)

‘ 2-8 .

2-1 1.

3THIA-6

26. Ug M Rl ATWIH

T JU SO HEEd o 600 T § ek o hud | § a91 35 79 a9
T W U T 1 AN Fwea fohn | Jos =R H1 3ouHER T die
T bl Tz | fafie yeer & qg, S o e 9, 98 @

1)  IH-125
(Gi) d9d — 165
(i) SHW - 50

(iv) Weli o 9t — 150
(v)  %al % 919 — 110

IATH-HIRIE W, $99 ¢4 & 7w, Jigesan U fan 991 T | 30 Teae
! ygRt ffafad gei & s &S

T4 T qiY 1 FeAfalea g9 s ailiedr = g 2
(i) Al ST Teh 19T ST Al 1 Teh Ure
(i) 9 1 Gren 37en diud w1 qen

1.30/4/1 | 14



25.

26.

In Figure-6, a tent is in the shape of a cylinder surmounted by a conical
top. The cylindrical part is 2-1 m high and conical part has slant height
2:8 m. Both the parts have same radius 2 m. Find the area of the canvas
used to make the tent. (Use &t = %)

2:-8 m
2:-1m

Figure-6

Tree Plantation Drive

A Group Housing Society has 600 members, who have their houses in the
campus and decided to hold a Tree Plantation Drive on the occasion of
New Year. Each household was given the choice of planting a sampling of
its choice. The number of different types of saplings planted were :

(1) Neem — 125

(i1)  Peepal — 165

(iii)  Creepers — 50

(iv)  Fruit plants — 150

(v)  Flowering plants — 110

On the opening ceremony, one of the plants is selected randomly for a
prize. After reading the above passage, answer the following questions.

What is the probability that the selected plant is
1) A fruit plant or a flowering plant ?

(i)  Either a Neem plant or a Peepal plant ?

gﬁ

15 P.T.O.
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J97 G&IT 27 G 34 TF Ycdb J97 3 3hl FT & |

27.

28.

29.

30.

31.

forg ST o V5 wh safo we 2 |

Th GHTAR &1 o Y9 30 Yl o1 INTheT 1920 8 | Jfe =i ue 18 &, df 39
IR A& bl 1197 U J1d hIfT |

fagatl (3, — 1) AT (6, 8) HI FieA AT @GS HI FH-HIINA F ot Torgadi
& frdares s Hif |

HAAAT
=4S ABCD %1 &mwel Wa hifve fomes sfivfog AQ, 2), BA, o),
C(4, 0) AT D(4, 4) W o3 & |

3RIA-7 H, XY T MN, O %% arel Rl g0 W 31 TR TRi@i @ 3R
IRl fog C W T gE TRI@1 AB, XY %l A @91 MN %I B W ¥ftesg &l
2 | g AR i £ AOB=90°2 |

X p A Y
0
C
M Q B N
STTHIA-7
frefafaa Tt 3w i ga hifvT
2,3_11,5.4__4
X y X y

Iq: 5x — 3y T UH JTd HIT |

YT

1.30/4/1 | 16
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SECTION C

Question numbers 27 to 34 carry 3 marks each.

27. Prove that +/5 is an irrational number.

gﬁ

28. The sum of the first 30 terms of an A.P. is 1920. If the fourth term is 18,

find its 11th term.

29. Find the co-ordinates of the points of trisection of the line segment

joining the points (3, — 1) and (6, 8).

OR

Find the area of a quadrilateral ABCD having vertices at A(1, 2),

B(1, 0), C(4, 0) and D(4, 4).

30. In Figure-7, XY and MN are two parallel tangents to a circle with centre

O and another tangent AB with point of contact C intersecting XY at A

and MN at B. Prove that £ AOB = 90°.

X P A Y
O
C
M Q B N
Figure-7

31. Solve the pair of equations :

284,54,

XYy X V¥

Hence, find the value of 5x — 3y.

OR

17

P.T.O.



32.

33.

34.

T TR H HH % WS § TH Fd Wig W sifafed =elt T gt W R wren
wfrferd foram St 2 1 10 fereft g8t o fow wrer < 75 2 don 15 foprll gt < fog
T 110 2 | Fad 9rel qon uid fRft 1 WISt @ @ ? 31a: 35 TRl 1 gl
WIST T4 HIT |

foag shifsre fos -

sin®—-cosO+1 1
cos0+sin®—-1 secO—-tan0O

3R(d-8 T, BHEhd W &I &A% A HIWT, &l Yo 14 I It Th
THeg FYS OAB % ¥ O 1 g AW 7 i frsen aren s el =™
@ﬁmw%|(n=¥am\/§=1-73mﬁﬁ@ﬁq)

5 Tfl, 6 Tt qem 7 Wt STl At Tk S 1 A i | TR T 31
Pyt 1 T e el o e By 1w e A 2
&l

arera
3 T s o U ga W UEY §F SRi@id @i S WER 60° 3 I 9T gehi
& |

1.30/4/1 | 18
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32.

33.

34.

Taxi charges in a city consist of fixed charges and the remaining charges
depend upon the distance travelled. For a journey of 10 km, the charge
paid is ¥ 75 and for a journey of 15 km, the charge paid is ¥ 110. Find
the fixed charge and charges per km. Hence, find the charge of covering a
distance of 35 km.

Prove that :

sinO—-cosO+1 1
cos0+sin®—-1 secO—-tan0O

In Figure-8, find the area of the shaded region where a circular arc of
radius 7 cm has been drawn with vertex O of an equilateral triangle OAB

of side 14 cm as centre. (Use nt = % and +/3 = 1-73)

7

A 14 cm B

Figure-8

Construct a triangle with sides 5 cm, 6 cm and 7 cm. Now construct
another triangle whose sides are % times the corresponding sides of the

first triangle.

OR

Draw a pair of tangents to a circle of radius 3 cm which are inclined to

each other at an angle of 60°.

gﬁ

19 P.T.O.
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J97 &I 35 @ 40 TF Jodb J7 4 37H] FT & |

35.

36.

37.

38.

600 fopmt ST BaTS I |, WS HIHH hl 978 T Tsh gaTs TGS ohl =T hH ol
4 S | AT Al 3NEd =T il 200 TeRHI/ERT h T F HEH % HIU ISH I
Y 30 e ¢ T | 3Y ¥ gaT8 ST <hl 3fHd =T [T i |

AT

%9 Al § T 9,000 T9H &Y ¥ 91 T | Al 20 fod 3R grd, @t TAh
HI T 160 Y fieTd | 3IRY § Fat fopa =aferd o 2

feafafga sea & fau @ 1fyes’ g==f serar 9 diftw | o 6 ggrar 9
S 1 HIggeh ol F1d T |

[

o (R ) : |40 —44

44 — 48 |48 - 52 |52 -56 | 56 — 60 | 60 — 64 | 64 — 68

BEI hl TE&T 7 12 33 47 20 11 5

afy Frel B B T g % wEE s ) e w R e w
wfaeag F % fag T T ©i=h S, @ fig i 6 3 o @1 et o &
argaTa # fawifr & St € |

A

T g Pga #, firg T £ ol w1 ot A9 @ qeredt & it F Aea
& U BT 8 |

Teh e TET Uk HHR % 91g doh AT 2 | HAR & e @ @e uh safed
Teh R ol 30° & FTITHT HIU W @Al &, Sl {oh HIR o UIE hl 3T THEAH
oA " AT @ 8 | 50 H. gl O B % 91G, HR B FGTHA BT 60° B
ST 2 | HAR sl 418 [ hiT | (V3 = 1-73 T i)

1.30/4/1 | 20



SECTION D

Question numbers 35 to 40 carry 4 marks each.

35.

36.

37.

38.

In a flight of 600 km, the speed of the aircraft was slowed down due to
bad weather. The average speed of the trip was decreased by 200 km/hr
and thus the time of flight increased by 30 minutes. Find the average

speed of the aircraft originally.
OR

T 9,000 were divided equally among a certain number of persons. Had
there been 20 more persons, each would have got ¥ 160 less. Find the

original number of persons.

Draw a ‘more than’ cumulative frequency curve for the following

distribution. Also, find the median from the graph.

gﬁ

Weight

(in kg) : 40-44

44 — 48 |48 - 52 | 52 - 56 | 56 — 60 | 60 — 64

64 — 68

Students :

Number of 7 12 33 47 20 11 5

If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then prove that the other two sides are

divided in the same ratio.
OR
In a right-angled triangle, prove that the square of the hypotenuse is

equal to the sum of the squares of the other two sides.

A straight highway leads to the foot of a tower. A man standing at the top
of the tower observes a car at an angle of depression of 30°, which is
approaching the foot of the tower with a uniform speed. After covering a
distance of 50 m, the angle of depression of the car becomes 60°. Find the
height of the tower. (Use /3 = 1-73).

21 P.T.O.
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39. TH FW § Gl dIedl o qHl HIU A Hadd JamehR &l i Bsamd shom:
40 Tt 3R 20 Trft § T Aedt I MEE 21 AH B | el T ARG AG
FIrT | Ty & aed B E T ygea arg () i arer w aewa ot 3
AR | (n = 22 i i)

40. FFIE f(x) = 2x* + 3x3 — 5x%2 — 9x — 3 @ YIS /3 AAT —/3 7§ | T8 @R
% I I |G T |
e

Y I AT AT fohU foFT U fgema sgvg SISy e S 98ug
5x2 + 2x — 3 % S % HHA Tl |
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39.

40.

A bucket open at the top has top and bottom radii of circular ends as
40 cm and 20 cm respectively. Find the volume of the bucket if its depth
is 21 cm. Also find the area of the tin sheet required for making the

bucket. (Use &t = %)

Obtain other zeroes of the polynomial
f(x) = 2x4 + 3x3 — 5x2 - 9x — 3
if two of its zeroes are +/3 and — /3.
OR

Without actually calculating the zeroes, form a quadratic polynomial

whose zeroes are reciprocals of the zeroes of the polynomial 5x2 + 2x — 3.

23

gﬁ



